

1326831

Form CP-1
March 2010
This Form must be Typed
Form must be Signed
All blanks must be Filled

WELL PLUGGING APPLICATION

Form KSONA-1, Certification of Compliance with the Kansas Surface Owner Notification Act, MUST be submitted with this form.

OPERATOR: License #:		API No.	15		
Name:		If pre 19	67, supply original comp	letion date:	
Address 1:		Spot Des	scription:		
Address 2:			Sec Tw	/р S. R	East West
City: State:			Feet from	North /	South Line of Section
Contact Person:			Feet from	East /	West Line of Section
Phone: ()		Footages	s Calculated from Neare:		Corner:
/ Hone. (/		County	INE INVV		
			ame:		
Check One: Oil Well Gas Well OG					
SWD Permit #:				Permit #:	
Conductor Casing Size:					
Surface Casing Size: Set at: Production Casing Size: Set at:			Cemented with:		
List (ALL) Perforations and Bridge Plug Sets:	_ Set at:		Cemented with:		Sacks
Elevation: (G.L./K.B.) T.D.: Condition of Well: Good Poor Junk in Hole Proposed Method of Plugging (attach a separate page if addit	Casing Leak at:			Stone Corral Formation))
].,			
Is Well Log attached to this application? Yes No	Is ACO-1 filed?	Yes No			
If ACO-1 not filed, explain why: Plugging of this Well will be done in accordance with K. Company Representative authorized to supervise plugging of	-	-			sion
Address:		City:	State:	Zip:	+
Phone: ()					
Plugging Contractor License #:		Name:			
Address 1:		Address 2:			
City:			State:	Zip:	+
Phone: ()					
Proposed Date of Plugging (if known):					

Payment of the Plugging Fee (K.A.R. 82-3-118) will be guaranteed by Operator or Agent

Submitted Electronically

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1326831

Form KSONA-1
January 2014
Form Must Be Typed
Form must be Signed
All blanks must be Filled

CERTIFICATION OF COMPLIANCE WITH THE KANSAS SURFACE OWNER NOTIFICATION ACT

This form must be submitted with all Forms C-1 (Notice of Intent to Drill); CB-1 (Cathodic Protection Borehole Intent); T-1 (Request for Change of Operator Transfer of Injection or Surface Pit Permit); and CP-1 (Well Plugging Application).

Any such form submitted without an accompanying Form KSONA-1 will be returned.

Select the corresponding form being filed: C-1 (Intent) CB-1 (Cathodic Protection Borehole Intent) T-1 (Transfer) CP-1 (Plugging Application)				
OPERATOR: License #	Well Location:				
Name:	SecTwpS. R 🔲 East 🗌 West				
Address 1:	County:				
Address 2:	Lease Name: Well #:				
City: State: Zip:+	If filing a Form T-1 for multiple wells on a lease, enter the legal description of				
Contact Person:	the lease below:				
Phone: () Fax: ()					
Email Address:					
Surface Owner Information:					
Name:	3 - 7				
Address 1:	sheet listing all of the information to the left for each surface owner. Surface owner information can be found in the records of the register of deeds for the				
Address 2:	county, and in the real estate property tax records of the county treasurer.				
City: State: Zip:+					
the KCC with a plat showing the predicted locations of lease roads, tank are preliminary non-binding estimates. The locations may be entered of Select one of the following: □ I certify that, pursuant to the Kansas Surface Owner Notice A owner(s) of the land upon which the subject well is or will be lead.	dic Protection Borehole Intent), you must supply the surface owners and a batteries, pipelines, and electrical lines. The locations shown on the plat in the Form C-1 plat, Form CB-1 plat, or a separate plat may be submitted. act (House Bill 2032), I have provided the following to the surface pocated: 1) a copy of the Form C-1, Form CB-1, Form T-1, or Form				
CP-1 that I am filing in connection with this form; 2) if the form I form; and 3) my operator name, address, phone number, fax, a	peing filed is a Form C-1 or Form CB-1, the plat(s) required by this nd email address.				
KCC will be required to send this information to the surface ov	cknowledge that, because I have not provided this information, the vner(s). To mitigate the additional cost of the KCC performing this of the surface owner by filling out the top section of this form and KCC, which is enclosed with this form.				
If choosing the second option, submit payment of the \$30.00 handling form and the associated Form C-1, Form CB-1, Form T-1, or Form CP-	fee with this form. If the fee is not received with this form, the KSONA-1 will be returned.				
Submitted Electronically					



K3 Oil & Gas Operating Company 211 Highland Cross, Suite 230 Houston, TX 77073 Office 832-813-8558 Fax 832-234-0825

10 January, 2017

Mr. & Mrs. David Standrich 1018 East 136th Street Mulvane, KS 67110

RE: Standrich 11-7
2263' from South Line &
1065' from West Line, Section 7*T33S-R4W
Sumner County, Kansas

Dear Owner;

Per KCC requirements we are notifying you that the above named well was plugged on December 12, 2017. The Operator of the captioned well (s) is:

K3 Oil & Gas LLC 24900 Pitkin Road Suite 305 The Woodlands, TX 77386 Contact: Susan Rainbolt

Susan E. Rainbolt K3 Oil & Gas



PAGE CUST NO YARD # INVOICE DATE 1 of 1 1009504 1718 12/09/2016

INVOICE NUMBER 92297487

Pratt

(620) 672-1201

B K3 OIL & GAS

1 24900 PITKIN RD, SUITE 305

L THE WOODLANDS

TX US

77386

o ATTN:

SELIGMAN

LEASE NAME LOCATION

Standrich

Sumner

STATE

COUNTY

В

S

KS

Ι JOB DESCRIPTION Т

Cement-New Well Casing/Pi

11-7

JOB CONTACT

JOB # EQUIPMENT # PURCHASE		ORDER NO.		TE	RMS	DUE DATE		
40985569	27463				Net -	30 days	01/08	/2017
· · · · · · · · · · · · · · · · · · ·			QTY	U of	UNIT	PRICE	INVOICE	MOUNT
or Service Dates	: 12/04/2016 to 12/	04/2016		-				
040985569								
	•							.:
171814696A Ceme	nt-New Well Casing/Pi 12,	/04/2016						
Cement 8 5/8 Surfac	Personal Market		Mark Vitty C					
A-Serv Lite			165.00	EA	•	5.46		900.9
60/40 POZ			. 110.00	EA		5.04		554.4
Celioflake	·		70.00			1.55		108.7
Calcium Chloride			717.00			0.44		316.2
"Top Rubber Cmt Pla	=		1.00	1	•	94.50		94.
"Unit Mileage Chg (F Heavy Equipment Mi			85.00 170.00	I		1.89		160.
"Proppant & Bulk De	•		1,195.00			3.15 1.05		535. 1,254.
Blending & Mixing Se			275.00			0.59		1,254.
Plug Container Util. (1.00	1		105.00		105.
Depth Charge; 0-500			1.00	1		420.00		420.
"Service Supervisor,			1.00	i f		73.50		73.
				7				
	Company	Minter of materials in a series of a section of the	www. mark Services					
	Well Name_S7,	woud 11	7					.*
		9210						
	CALACCOURT	William of the state of the sta	er gorgo (Madaz – 1981				* · · · · · · · · · · · · · · · · · · ·	
· C.		(4)				* +;		pro see
$\epsilon_{ij} C$.	Approval		1.60-dama.anstra			10.96		Jan (4.50

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

SUB TOTAL

4,685.88

TAX

131.62

INVOICE TOTAL

4,817.50



PAGE CUST NO YARD # INVOICE DATE 1 of 1 1009504 1718 12/09/2016

INVOICE NUMBER 92297487

Pratt

(620) 672-1201

B K3 OIL & GAS

1 24900 PITKIN RD, SUITE 305

L THE WOODLANDS

TX US

77386

o ATTN:

SELIGMAN

LEASE NAME LOCATION

Standrich

Sumner

STATE

COUNTY

В

S

KS

Ι JOB DESCRIPTION Т

Cement-New Well Casing/Pi

11-7

JOB CONTACT

JOB # EQUIPMENT # PURCHASE		ORDER NO.		TE	RMS	DUE DATE		
40985569	27463				Net -	30 days	01/08	/2017
· · · · · · · · · · · · · · · · · · ·			QTY	U of	UNIT	PRICE	INVOICE	MOUNT
or Service Dates	: 12/04/2016 to 12/	04/2016		-				
040985569								
	•							.:
171814696A Ceme	nt-New Well Casing/Pi 12,	/04/2016						
Cement 8 5/8 Surfac	Personal Market		Mark Vitty C					
A-Serv Lite			165.00	EA	•	5.46		900.9
60/40 POZ			. 110.00	EA		5.04		554.4
Celioflake	·		70.00			1.55		108.7
Calcium Chloride			717.00			0.44		316.2
"Top Rubber Cmt Pla	=		1.00	1	•	94.50		94.
"Unit Mileage Chg (F Heavy Equipment Mi			85.00 170.00	ı		1.89		160.
"Proppant & Bulk De	•		1,195.00			3.15 1.05		535. 1,254.
Blending & Mixing Se			275.00			0.59		1,254.
Plug Container Util. (1.00	1		105.00		105.
Depth Charge; 0-500			1.00	1		420.00		420.
"Service Supervisor,			1.00	i f		73.50		73.
				7				
	Company	Minter of materials in a series of a section of the	www. mark Services					
	Well Name_S7,	woud 11	7					.*
		9210						
	CALACCOURT	William of the state of the sta	er gorgo (Madaz – 1981				* · · · · · · · · · · · · · · · · · · ·	
· C.		(4)				* +;		pro see
$\epsilon_{ij} C$.	Approval		1.60-dama.anstra			10.96		Jan (4.50

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

801 CHERRY ST, STE 2100 FORT WORTH, TX 76102

SUB TOTAL

4,685.88

TAX

131.62

INVOICE TOTAL

4,817.50

Conservation Division 266 N. Main St., Ste. 220 Wichita, KS 67202-1513



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Sam Brownback, Governor

Jay Scott Emler, Chairman Shari Feist Albrecht, Commissioner Pat Apple, Commissioner

January 10, 2017

John Harkins K3 Oil & Gas Operating Company 24900 PITKIN RD SUITE 305 Suite 305 THE WOODLANDS, TX 77386

Re: Plugging Application API 15-191-22785-00-00 STANDRICH 11-7 SW/4 Sec.07-33S-04W Sumner County, Kansas

Dear John Harkins:

The Conservation Division has received your Well Plugging Application (CP-1).

Under K.A.R. 82-3-113(b)(2), you must notify DISTRICT 2 of your proposed plugging plan at least 5 days before plugging the well. DISTRICT 2's phone number is (316) 630-4000. Failure to notify DISTRICT 2, or failure to file a Well Plugging Record (CP-4) after the well is plugged will result in a penalty recommendation.

Under K.A.R. 82-3-600, you must file an Application for Surface Pit (CDP-1) if you wish to use a workover pit while plugging the well. Failure to timely file a CDP-1, failure to timely remove fluids, or failure to timely file Closure of Surface Pit (CDP-4) or Waste Transfer (CDP-5) forms will result in a penalty recommendation.

This receipt does NOT constitute authorization to plug this well if you do not otherwise have the legal right to do so.

This receipt is VOID after July 10, 2017. If the well is not plugged by then, you will have to submit a new CP-1 if you wish to plug the well.

The July 10, 2017 deadline does NOT override any compliance deadline given to you by Legal, District, or other Commission Staff. Failure to comply with any given deadline will still result in the Commission assessing penalties, or taking other legal action.

Sincerely, Production Department Supervisor

cc: DISTRICT 2